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HIH : 202486 H2H (H)
No.4 BF 50m Fj)kFE A A L L— R R
L hEHE >
B K £ B FE 7K B iclE
1 7k AEdk G A 13 9/ 6 31. 34 10#% ( 0.69)
2 THE Kk e B 9/ 1 33.82 108% (0.71)
3 LA A =N 3 8/ 9 35. 32 68% ( 0.63)
4 W FE Hepg 3 8/ 8 36. 14 6% ( 0.82)
5 FJIl Bk WA 3 5/ 6 39.23 3#%  (0.76)
6 FHr  PEpk 1 A 13 4/ 6 39.73 3% (0.83)
7 E EE HEpd 1 5/ 8 40. 35 5%%  ( 0.84)
8 I W IR 12 6/10 41. 38 3% (0.89)
9 Ji ZEp e 1 4/ 7 43. 33 3%k (0.72)
10 7K EZ D=4V =) 4/10 44. 39 28%  (0.92)
11 FEEF  ACHD B H12 4/ 4 44. 46 ( 0.76)
12 A #hE B AR H2 3/ 5 44.70 ( 0.88)
13 I T HEA ] A 13 3/ 2 45.17 ( 0.99)
14 —REREE KA 2 4/ 9 45. 22 ( 0.65)
15 YK Uil AT 13 4/ 5 45. 35 ( 0.79)
16 Tk 5 EEis 12 2/ 3 46. 00 ( 0.84)
17 #EBE FEKX Herg 3 4/ 2 46. 57 ( 0.96)
18 A EE H & 1 3/ 9 47.20 ( 0.81)
19 58 EA& JRUHR AR 3 5/10 47. 43 ( 0.81)
20 M KK ik s b 3/ 1 47.83 ( 0.90)
21 K& A 1 A 2 2/ 8 48. 53 ( 0.87)
22 f&H] f&f [z 1 2/ 2 49.78 ( 0.66)
23 /NEFIERE etig H12 1/ 4 50. 72 ( 0.81)
24 [H EA FEVRRRE N 1 3/10 52.47 ( 0.62)
25 HE hifE BRI S H3 3/ 8 54. 49 ( 0.86)
26 f1)Il BEFH 1 A 1l 2/ 1 55.23 ( 0.93)
27 )l K— BEH A AR 3 1/ 6 55.53 ( 0.70)
28 AR 4Rl W Ml 1/ 2 56. 15 ( 0.72)
29 ¥ Bfn HFEh 2 1/ 8 58.90 ( 0.93)
30 REH FH RIS 1 1/ 3 1:00.51 ( 1.27)
31 AHf H R 3 o 1 2/ 6 1:02.13 ( 1.06)
32 mjE HEKR i 2 o 1 2/ 4 1:04.23 ( 1.02)
S U MR 25 T Hi1 2/ 5 &KH&1. (———— )
ol T i R 2 2/ 9 %£¥7.2 (————— )
HH R WA 2 8/ 1 %#&4. 4 (== )
No.4 BB¥ 50m ik E A A L L—R R K&k
 8gR&E >
B K £ i & FE 7K % =G
1 R JEn] o =3 9/ 5 31. 21 8% (0.77)
2 /NR Ik R A 0E &3 9/ 4 31.80 8#k ( 0.73)
3N KFn FEI A 5 fE = 9/ 3 31.93 8% (0.71)
4 HIFS Bk [ESVAZ: =i =g 8/ 3 32. 46 8#% ( 0.69)
5 I % ) IR+ = 9/ 2 32.56 8f% ( 0.60)
6 RKH #K R & &g =3 9/10 32.73 7#% ( 0.68)
7T K puat 2w e =l 9/ 7 33.08 7% (0.70)
8 BT A= FEIA F4iE =2 9/ 9 33.45 T#%  (0.73)
9 #BH  thA 2 JRE IR e R IR =2 8/ 5 33. 65 T#k  ( 0.64)
10 %I EiE 7 BEiR =3 7/ 2 33.67 6% ( 0.71)
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No.4 BBF 50m ik B4 LL—R R KL
&% >
B K £ B FE 7K B iclE
11 [AEREA )1 I A =3 9/ 8 33.83 65% ( 0.69)
12 3 K RN 3 8/ 4 34.30 5%% ( 0.76)
13 I sk 7 e =3 7/ 9 34.69 5%k ( 0.64)
14 g FLRA iile) =3 6/ 7 35. 23 5%% ( 0.66)
15 itk 2R B JAE I I R R =2 8/ 2 35. 49 4%%  ( 0.73)
16 5H W=} 5 =3 7/ 4 36. 26 4%%  ( 0.68)
17 f8oc K i RPN =2 5/ 4 36. 67 4% ( 0.74)
18 =EIlI Kl &5 =3 8/ 6 36. 69 3fk  (0.72)
19 KA JEK 7 [ = 6/ 9 36. 95 4%%  ( 0.86)
20 ZJE B iilEa] B2 7/ 1 37.48 3% (0.68)
21 Bp K iileg] = 8/10 38.33 3tk ( 0.66)
22 NI &=k 1 [ =) 7/ 5 38.53 3f% ( 0.67)
23 WA K il 2[5 =) 6/ 3 38.85 2%% ( 0.68)
24 KK Kbt AR =2 7/ 8 38.94 2%% (1 0.74)
25 1Rk U )1 1A il 7/ 1 39. 52 28%  (0.72)
26 EA BHK [ESVAZ = =i 1 6/ 6 39. 56 2%% ( 0.66)
27 ARG ARER iilea] =) 7/ 3 39. 60 28%  ( 0.67)
28 )1l K5 1 [ = 3/ 4 39.79 2%% ( 0.75)
29 i ERE & & fiE =2 5/ 1 40. 98 %% ( 0.69)
30 f&H b5 Hlrl B 2 ] =2 6/ 8 41. 21 ( 0.71)
31 AH  #h= R A E 2 7/10 41.29 ( 0.81)
32 {2 R ES7 AL E iR =2 5/ 7 42.37 ( 0.73)
33 KRR Z AT & & fiE =2 6/ 1 42.67 ( 0.82)
34 EfE SLA FEIA F4E =) 5/ 3 42. 68 ( 0.71)
35 SR B % =2 4/ 3 43. 06 ( 0.97)
36 TN A Eig =2 5/ 9 43. 47 ( 0.73)
37 FKIM  EESY F i =2 4/ 1 45. 44 ( 0.75)
38 /INH O EAE LR @R =1 2/ 1 45. 68 ( 0.89)
39 HH S 5[] =8 6/ 2 45. 71 ( 0.77)
40 Hildy  FoFl 1 [ il 1/ 5 45. 72 ( 0.64)
41 HE 5 1 [ = 3/ 7 48.13 ( 0.86)
42 XE R R A S fE =) 4/ 8 49. 05 ( 0.72)
43 Aey  I&AT JREA &l 3/ 3 50. 48 ( 0.77)
R R Fi % 2 3/ 6 Ki&1.1 (=)
5% MR P i3 5/ 2 %k#&1.5 (————— )
R O A 3 7/ 6 %ki&1.2 (—— )
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